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i bill X Fil 52, 804, 506
% B X R R 47, 877, 597
2 Bt H # o # F 374, 259
RN | NS R = G ) 4, 511, 070
4 A % Bi 41, 580
w5 E 5 B 1, 000, 000
1 O % W GE 5 B 300, 000
2 H 8 #H EHEELH M 700, 000
7 - S I o4 150, 000
1 & 7 &R & 150, 000
(LU T b I 600, 000
O T N B 600, 000
R U5 R U BT A5 B A2 AT & 500, 000
1 #k o5 R 0 T 15 &2 AT & 500, 000
2L G T R B R 11, 000, 000
1 5 HE B RN e 11, 000, 000
SIS 0/ A = N D o 400, 000
1 H # # B G B2 M 400, 000
bCi MRS 17/ B 400, 000
1 # 7 R B R & 400, 000
ST | B PSR B N 87, 800, 000
SRS 1| P g S B 87, 800, 000
A2 18 2 A R I AR AT A 60, 000
1 2238 2 4 o6 3R KR ) A2 AT A 60, 000
o e kA H e 3, 195, 698
1 # il & 3, 195, 698
fiE H OB kO F OB 4, 261, 635
1 ff ! Bt 3, 455, 340
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1 EH H A #H & 48, 657, 964
2 ®H E M B & 4, 423, 341
3 E H % i & 21, 374
14 # X H 4 18, 300, 373
1 # A il 4 9, 999, 840
2 #B #ifi i) & 6, 837, 535
3 #B i H & 1, 462, 998
15 W JE I A 368, 274
1 M o ®E A I A 339, 565
2 M pE % O W A 28, 709
16 % it & 57, 800
1 % i & 57, 800
17 & A & 2, 643, 853
1R B = B A & 3
2 X & #H AN & 2, 643, 850
18 i el 4 2, 219, 185
1 B & 2, 219, 185
19 7 I N 4, 022, 831
1 AE WA N A e O R 126, 455
2 % B X o4& Fl o7 300
38/ M & & A O A 425, 355
4 % F F ¥ W A 787, 991
5 J A 2, 582, 730
6 I 4 F O E O A 100, 000
20 %F il X & 1, 256, 000
1 FF il X f& 1, 256, 000
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= 2 911, 350
1 & = 2 911, 350
(=S =R TR ¢ 7, 195, 796
1 & % & m % 7, 195, 796
v ®m B 910, 342
1B K fa o oE B & 910, 342
i % 7 7, 530, 189
1 & B % #B % 5, 340, 521
2 1% i # 1, 961, 957
3 % % # 138, 236
4 B K a8 % 89, 475
R % # 4, 589, 096
I IO [T ¢ 3, 081, 123
2 ¥ £S # 447, 579
3 # 5 F  #H % 1, 060, 394
B 15 7 9, 316, 305
1B K% W & 712, 999
2 W W B B 8, 603, 306
* 7 # 7, 998, 709
1+ = % FH O # 5, 080, 268
2 R & K F # 2, 918, 441
w B 2 8, 660, 473
1 M B IR OB R OB & 7, 042, 387
2@ L - B ¥ KER 1, 618, 086
fik: # 73, 285, 702
1+ = G T ¢ 31, 665, 231
2 & E #B®’F 7 41, 620, 471
b ®x kE # 58, 958, 230
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JfE 2 22, 351, 464
1 R & B A & 22, 351, 464
7N # 17, 289, 748
1+ K ® #® & 3, 029, 635
2 W W F [T 6, 334, 894
3 E B OB 7 % 7, 925, 219
A # 22, 790, 281
1 # A # 22, 790, 281
& # 2, 055, 149
1 2 f& 2 2, 055, 149
fi # 300, 000
1 7 fi # 300, 000
% H = 7 244, 142, 834
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